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(5 Marks each)

Time: 3:00 Hours

Q.1 Write short notes on any three of following:

a) Time value of money
b) Profitability Index
c) Wealth maximization
d) Trading on Equity

Q.2 A. Certainty Enterprises is considering two projects Aand B with initial outlays of ¥50,00,000

and %60,00,000. The inflows of the projects are sensitive to the economic conditions that are
revail over 10 years; the life of each of the project. The cash flows for the 4 different

expected to p
economic conditions of Excellent, Good, Average and Poor with their respective crobabilities are
as below:
Cash Flows (XLakhs) S
' Probability A B
Initial cost Certain -50 -60 J
Excellent 0.30 15 18 J
Good 0.20 12 14 J
Average 0.30 10 12 j
Poor 0.20 8 7 J

Required rate of return is 15%. \

" “4)” What is the net present value of the projects under the different economic cbﬁditio -' 2
ns?

(6 Marks)

based on standard deviation and coefficient of variation?

b) What NPV you expect for each of the project (ENPV)?

(4 Marks)



anagemen
t of Capi
»aNnya| ¢ h Pital Choosers Ltd has 5 projects A, B, C, D and E on hand. The

ash f .
[\\ lows and life of projects is given below:
SIS Outiay ey | Ot | Proects | projace [ projectd | ProjetE |
*Pected annya| cae 100 150 175 180 135

hflow |

22 34 49 43 37
\.RLakhs :
Life of pro-\)~ »»»»»» B
= Of Project years T — . -

i B I B T B

a) Fin ,
d NPV ang Profitability Index of each project assuming the cost of capital to be 15%,

b) (5 Marks)
Rank project on basis of PI criteria. Which project will be chosen if there is‘a budget
constraint of X500 lakh and projects are divisible? (3 Marks)

Q.3.A. Bhaskar Manufacture Ltd. has equity share capital of 500,000 (face value of X 100). To
meet the expenditure of an expansion program, the company wishes to raise 300,000 and is
having following alternatives as sources of funds:

Plan A: To have full money from issue of equity

Plan B: To have X 100,000 from equity shares and 200,000 from borrowings from financial
institution at 10% p.a.

Plan C: To have full money from borrowings at 10% p.a.

The company has present earnings of 150,000. The corporate tax rate is 50%.

a) Calculate EPS for all plans & advise the most suitable plan to raise required funds.
( (3x 2)+ 2 = 8 Marks)

Q.3.B Calculate the degree of operating leverage and degree of financial leverage according to

the data given below for companies A and B: (3X2 = 6 marks)
A B
~Output in Units 70,000 25,000
Fixed costs 10,000 13,000
Variable cost/ unit 0.2 1.5
Interest on borrowed funds 5,000 18,000
Selling price per unit 0.6 S

FinanCial leverage is a double-edged sword. Do you agree, why?
.3.C.
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Q.3

Brightways Ltd. faces three possible economic iti
: conditions very poor, poo
. , ) ’ r,
Brightways’ possible level of sales and operating expenses with their p?obab;:i?c;ncﬁloind oo
currence

are given in table below:

Expected Sales, EBIT, ROl with associated probabilities

Poor Normal Good
| Poor

Probability ~ | o010 [ o015 | 035 [ 030 0.05
Sales | ee0 | 710 | g0 | 880 1160
Costs: - -
Variable cost | 330 355 400 440 580 ]
Fixed cost 280 280 280 280 280
Total Cost 610 635 "~ 680 720 860
EBIT 50 75 120 160 . 300
ROI 10% 15% 24% 32% 60%

The company is considering two financial plans:

inary shares at 10 per share

1. Raise entire funds by issuing 50,000 ord
hares of %10 each and borrow 250,000 at 15%.

2. Ortoraise %250,000 by issuing.25,000.s

The tax rate of 50%.

a) Whatare the effects holders’ earnings?

(10 marks)
b) Doesstate of economy have a bearing on choice of financial plan, please state in context
(3 marks)

of information given about Bright ways.
c) Financial leverage is @ double-edged sword. Do you agree? (2 Marks)

of alternative plans on share

Q.4A. Mr Sunil takes a loan of INR 100,000 at 14% rate of interest for purchasing a car. The loan

has to be repaid over the next 5 years.

nual instalment to be given by Mr Sunil to repay his principal plus
(3 Marks)

(5 Marks)

a) Estimate the equal an
interest in the 5 years.
b) Prepare schedule of loan amortization

Q.4 B. How much amount should be invested now so that M i i

' . r Sunil r

year in perpetuity at an interest rate of 10%? S 100(000 each
2 Marks)
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